Problem -6

Part-(a)

The third model is the best model due to the following reasons:

( The scatter plot for this model tells us that there is a linear association between the variables sqrtsize & time. Thus, a linear fit is appropriate.

( The fact that the residuals are randomly distributed in the plot of residuals versus predicted values and the normal probability plot of residuals is fairly straight line tells us the model does not suffer from luck of fit, i.e. it does not violate the assumptions.

( The R-Sq(adj) value tells us that the model explains 99% of the total variation in the response.Thus, it does an excellent job in explaining the total variation.

Part-(b)

From the MINITAB output, the predicted sqrtsize at Time=50 is 9.1280 and the 95% PI is (8.66,9.596). Thus, the predicted tumor size at Time=50 is 9.1280*9.1280=83.32 and the corresponding 95% PI is (8.66*8.66, 9.596*9.596)=(74.99,92.08).

